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1.Sh5+ Kb8 2.c6 und a7# ist nicht zu
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| | Nestorovic
B Brkic
Zadar
[Husemann,D]
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Was sollte Weil3 am Zuge nun
machen?

1.Txg4! Kxh2
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[1..95 2.Th7 h4 3.Tgxh4+ gxh4

4.Txha# |
[1..hxg4? 2.Th7#]

2.Te2+ Kh3 3.Th4+ Kxg3 4.Teh2!

nebst Matt
1-0

| | Martyniuk,C
B Besso,G
Buenos Aires
[Husemann,D]

(Diagramm)

Was sollte Weil3 am Zuge nun
machen?
1.Te8+! Kg7

[ 1..Txe8 2.Dxd5+- ]
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2.Txd8 Dxd8 3.Lc3 Td7 4.Txd4
Txd4 5.Dd1

1-0

C50
| | Riedel,David 765
l Diekmann,Jonas 791

Brackweder Jugendpokal B 17.12.2007
[Husemann,D]

l.e4 e5 2.5f3 Sc6 3.L.c4 Lc5 4.Sc3
Sf6 5.d3 h6 6.0-0 0-0 7.h3 d6
8.Le3 Lxe3 9.fxe3 Te8 10.Lb5 Ld7
11.Tcl a6 12.Lc4 Le6 13.Lxe6 Txeb
14.d4 b5

(Diagramm)

Weil am Zuge. 15.d5 Te7 16.dxc6
b4 17.5d5 Te8 18.a3 bxa3 19.bxa3
Sxed4 20.Sd2 Dh4 21.Sxc7 Sc3
22.5f3 Ded 23.Dxd6 Se2+ 24.Khl
Sg3+ 25.Kh2 Sxfl+ 26.Txfl Ted8
27.De7 Tac8 28.Dxe5 Dxeb+
29.5xe5 Txc7 30.Tb1l Te8 31.Th7
Tce7 32.c7 Tc8

0-1
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